College Algebra — Joysheet 8 Name:
MAT 140, Fall 2019 — D. Ivansié Covers: 8.1, 8.2, 8.3 Show all your work!

Simplify, so that the answer is in form a + bi.
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3. (4pts) Simplify and justify your answer.
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4. (8pts) The water level of a river above normal (in feet) is given by H(z) = —z®+14z -9,
where z is the number of days after October 28th.

a) On what dates was the water level 24 feet above normal?

b) On what date did the water level peak?

A o= )(.1:} l4x-9= 2% Xx=3,1] Ay al e Oct 2844
~ ¥ |42-3)=0 Dakis aves ﬁf*?‘;";
o i ou
ﬂ"c}ﬁ*?’: -U' £) Maed vahes 7 days o, O DT
(){H“)(?{_}}'—U ,-\l ,&:-51‘5”27 0 ij A['Hﬂ
/ it

1 L] {a= :-'5_
(;{3)-3}(]_ dFU ._.0 EL:M‘L L
3 1
leh - ¢ k= 3u-4p=0

({{.-3_)0-145}1{}
6. (6pts) Solve by completing the square. 5 3
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7. (12pts) The quadratic function f(z) =

using the calculator.

—z? + 22 — 7 is given. Do the following without

a) Find the z-intercepts of its graph, if any. Find the y-intercept.

b) Find the vertex of the graph.
c) Sketch the graph of the function,
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8. (12pts) In a rectangle, one side is twice as long as another side, and the diagonal is 11
meters longer than the shorter side. What are the dimensiong pf the rectangle?
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